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(1] A2V —¥ K5
(1) HYLS M O # R A
O JFk

£ 7K H 15 7K 275 /KPR 375 /K 475 7K 5 /K 675 /K 75 KR 85 KK
£ 7K H R3.9.7 R3.9.7 R3.9.7 R3.9.7 R3.9.7 R3.9.7 R3.9.7 R3.9.7
PN i i i & i i i i &
= M= (C) 17.2 16.9 16.1 16.3 16.0 17.1 17.3 17.5
Ik M= C) 20.2 20.4 17.6 16.5 16.5 16.6 14.8 14.6
— i il (ImLH) 2 0 0 0 0 0 0 0
PN 1% (MPN/100mL) 0 0 0 0 0 0 0 0
i fiF i3 fe = ¥ (mg/L) <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004
S MR RE ZEOHE K UM M MR E R (mg/L) 0.30 0.28 0.28 0.33 0.31 0.33 0.21 0.36
7 v F Lk O 0 AW (mg/1.) <0.08 <0.08 <0.08 <0.08 <0.08 <0.08 <0.08 <0.08
o & N 2 o b A& Y (mg/L) <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005
g Kk O o b A W (mg/L) <0.01 <0.01 <0.01 <0.01 <0.01 0.01 <0.01 <0.01
~ v A kRO E O E WY (mg/L) <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005
oy e Y A % N (mg/L) 7.9 6.0 4.0 4.0 4.4 4.7 3.6 4.5
TNV TN, T RN E) (mg/L.) 160 150 62 49 58 68 47 50
H MW (& AH ¥R # (To0) © &) (mg/L) 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1
p H il 6.4 6.3 6.4 6.4 6.4 6.4 6.0 6.2
5 e BERL HERL L AL L BT HERL AL
=) B () <0.5 <0.5 0.5 0.5 <0.5 0.5 <0.5 0.5
V) = () 0.1 <0.1 0.1 0.1 <0.1 0.1 <0.1 0.3
B X @ g (T O N ) <1 <1 <1 <1 <1 <1 <1 <1
7t & " # Al (ImLH") 49 2 28 7 16 2 10 20
N i7 #E| (MPN/100mL) 66 0 38 4 15 4 3 9
7 v E = 7 H r # (mg/L) 0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02
it 173 A % N (mg/L) 94 98 38 28 34 43 37 34
T = I = R (mS/m) 39.7 38.5 17.3 14.3 16.2 18.9 14.2 14.8




1 JKiE M RR DK E A
(1] AZV—#Kes
(1) BB O R A

@ JFEAK

£ 7K H R3.4.6 R3.5.12 R3.6.8 R3.7.6 R3.8.18 R3.9.7 R3.10.5 R3.11.10 R3.12.14 R4.1.19 R4.2.16 R4.3.15 15N B/ S
X i B = i = = = b i 5] = i = - - -
X i (©) 7.5 14.2 22.5 24.7 23.1 17.0 19.7 10.5 4.8 1.5 2.8 15.2 24.7 1.5 13.6
7K & (©) 13.5 18.0 17.0 15.5 16.0 16.0 17.5 18.0 18.0 16.0 17.0 18.0 18.0 13.5 16.7
— % Al (ImLH) 0 1 2 1
K 15 (MPN/100mL) 0 0 0 1 0 0 0 1 0 0
HKEIT AR PZOALEDY (mg/L) — — — — — — <0.0003 — — — — — — — <0.0003
KB E O o b A W (mg/L) <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005
L kN ZE O A& W (mg/L) — — — — — — <0.001 — — — — — — — <0.001
i K O 2 o b & B (mg/L) — — — — — — <0.001 — — — — — — — <0.001
E E K X F 0o b AW (mg/L) — — — — — — <0.001 — — — — — — — <0.001
Nl v A b A W (mg/L) — — — — — — <0.002 — — — — — — — <0.002
il fid i3 Re = F (mg/L) <0.004 — — <0.004 — — <0.004 — — <0.004 — — <0.004 <0.004 <0.004
T A A A v R Ok T v (mg/L) — — — — — — <0.001 — — — — — — — <0.001
B OBRRE % HE K MR B E R (mg/L) 0.28 — — 0.32 — — 0.27 — — 0.22 — — 0.32 0.22 0.27
7 v FE Kk O E 0L A& Y (mg/L) <0.08 — — <0.08 — — <0.08 — — <0.08 — — <0.08 <0.08 <0.08
AU F R WY EZE O AEWY (mg/L) — — — — — — 0.06 — — — — — — — 0.06
Iy i} e R ES (mg/L) — — — — — — <0.0001 — — — — — — — <0.0001
1,4- % Zh X VA N (mg/L) — — — — — — <0.001 — — — — — — — <0.001
v A-1,2-vranxF L K N A
12- ¥ 7 m un T F L v (mg/L) — — — — — — <0.0001 — — — — — — — <0.0001
Y 7 n 1= S S (mg/L) — — — — — — <0.0001 — — — — — — — <0.0001
> N5 Z/ mou = F L v (mg/L) — — — — — — <0.0001 — — — — — — — <0.0001
K'Y Z v om = F L v (mg/L) — — — — — — <0.0001 — — — — — — — <0.0001
~ v + N (mg/L) — — — — — — <0.0001 — — — — — — — <0.0001
i) F [i73 (mg/L) — — — — — — — — — — — — — — —
Z = = e i3 (mg/L) — — — — — — — — — — — — — — —
7 i o iR % N (mg/L) — — — — — — — — — — — — — — —
v Z = = e i3 (mg/L) — — — — — — — — — — — — — — —
Y J v E J moua AL (mg/L) — — — — — — — — — — — — — — —
5 ES fi (mg/L) — — — — — — — — — — — — — — —
L A N = T S (mg/L) — — — — — — — — — — — — — — —
N A = T = T - (mg/L) — — — — — — — — — — — — — — —
7 n ® Y 7 mona XA H v (mg/L) — — — — — — — — — — — — — — —
7 1 £ Z JL A (mg/1.) — — — — — — — — — — — — — — —
A v A 7T N F B R (mg/L) — — — — — — — — — — — — — — —
o & X =2 o &b A W (mg/L) <0.005 — — <0.005 — — <0.005 — — <0.005 — — <0.005 <0.005 <0.005
TNHNI=TU LK OZ DAY (mg/L) - — — — — — <0.01 — — — — — — — <0.01
® Kk O o & B (mg/L) <0.01 — — <0.01 — — <0.01 — — <0.01 — — <0.01 <0.01 <0.01
i &k N = 0 b AW (mg/L) — — — — — — <0.01 — — — — — — — <0.01
FThrI D AR OYZEDOIAEDY (mg/L) — — — — — — 10 — — — — — — — 10
~ v Ak OE O AW (mg/L) <0.005 — — <0.005 — — <0.005 — — <0.005 — — <0.005 <0.005 <0.005
i) 1t Y A %+ N (mg/L) 5.6 — — 3.7 — — 5.3 — — 5.7 — — 5.7 3.7 5.1
HIVT T A, T RN E) (mg/L) 110 — — 42 — — 110 — — 130 — — 130 42 98
7K i 5% e Wi (mg/L) — — — — — — 226 — — — — — — — 226
bz A A v Fom & A (mg/L) — — — — — — <0.01 — — — — — — — <0.01
v = * 2 2 N (mg/L) — — — — — — <0.000001 — — — — — — — <0.000001
- AF LAY KR IL R F — )b (mg/L) — — — — — — <0.000001 — — — — — — — <0.000001
¥ A4 A v K om & M A (mg/L) — — — — — — <0.005 — — — — — — — <0.005
7 - ) — JL ¥ (mg/L) — — — — — — <0.0005 — — — — — — — <0.0005
AW (& H K % (TOC) o & ) (mg/L) 0.1 0.1 0.1 0.1 0.1 0.1 <0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1

p H fiEd 6.5 6.4 6.3 6.3 6.3 6.3 6.4 6.4 6.4 6.5 6.5 6.4 6.5 6.3 6.4

% — — — — _ — _ _ _ _ _ _ _ _ _

= = FEL HERL HERL HERL HERL 2L HEL HEL HEL HERL HERL HERL — — HERL
=) i3 () <0.5 <0.5 0.5 0.5 0.5 <0.5 <0.5 0.5 0.5 <0.5 <0.5 <0.5 0.5 0.5 <0.5
1 E (%) 0.1 0.1 <0.1 0.1 <0.1 <0.1 <0.1 <0.1 0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
5% H i) ES (mg/L.) — — — — — — — — — — — — — — —
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£ 7K H R3.4.6 R3.5.12 R3.6.8 R3.7.6 R3.8.18 R3.9.7 R3.10.5 R3.11.10 R3.12.14 R4.1.19 R4.2.16 R4.3.15 B/ LYY

T T EUVEDPZOARLAEW (mg/L) — — — — — — <0.0002 — — — — — — — <0.0002
v 7 v Kk E O AW (mg/L) — — — — — — <0.0002 — — — — — — — <0.0002
=y F Vv kX ZE O ED (mg/L) — — — — — — <0.001 — — — — — — — <0.001
12- ¥ 7 v n =T X v (mg/L) — — — — — — <0.0001 — — — — — — — <0.0001
k v = v (mg/L) - — — — — — <0.0001 — — — — — — — <0.0001
THENEEY (-2 F L ~F L) (mg/L) — — — — — — <0.001 — — — — — — — <0.001
il i) F 73 (mg/L) — — — — — — — — — — — — — — —
Y /7 v uwu 7 k=KW (mg/L) — — — — — — — — — — — — — — —
fw ok 7 v 7 = ) (mg/L) — — — — — — — — — — — — — — —
s 4 i — — — — — — <0.001 — — — — — — — <0.001
g i % 74 (mg/L) - - - - - - 22 - - - - - - — 22
L1,1- Y 7/ v oo o= X (mg/L) — — — — — — <0.0001 — — — — — — — <0.0001
AF )L —t—7 F )L = —F )L (MTBE) (mg/L) — — — — — — <0.0001 — — — — — — — <0.0001
B X w® E (T O N ) <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1
o () 7 R ) — — — — — — -2.0 — — — — — — — -2.0
Bt & 5 7 HH (1mLH) 14 12 10 27 19 20 14 15 12 6 6 11 27 6 14
Ll- ¥ 7 @ g = F L v (mg/L) — — — — — — <0.0001 — — — — — — — <0.0001
VT NVARFIE Y AVRY ER(PFOS) 2 T

N VINFuA) R EE(PFOA) (mg/L) — — — — — — <0.000005 — — — — — — — <0.000005
53 & e s it (MPN/100mL) — — — — — — 0 — — — — — — — 0
b By e FOBE K & (mg/L) — — — — — — — — — — — — — — —
Aok O OB OEOE R E (mg/L) — — — — — — — — — — — — — — —
B 17 i3 ES (mg/L) — — — — — — — — — — — — — — —
o = F# (mg/L) — — — — — — — — — — — — — — —
S ) > (mg/L) — — — — — — — — — — — — — — —
(. A - s A B (mg/L) — — — — — — — — — — — — — — —
s fiig P B (mg/L) — — — — — — — — — — — — — — —
74 - JV v =3 (MPN/L) — — — — — — — — — — — — — — —
If = PE 3F il (MPN/L) — — — — — — 6 — — — — — — — 6
N 1 #| (MPN/100mL) 16 11 16 10 24 37 12 47 10 1 2 26 47 1 18
#OOfHE M B g ER (MPN/100mL) — — — — — — — — — — — — — — —
7 oy ' = 7 W # # (mg/L) <0.02 — — <0.02 — — <0.02 — — <0.02 — — <0.02 <0.02 <0.02
Vi % D4 v A (mg/L) — — — — — — 26 — — — — — — — 26
< 7 = g v A (mg/L) — — — — — — 8.0 — — — — — — — 8.0
it i3 A % e (mg/L) 76 — — 25 — — 73 — — 99 — — 99 25 68
J > fiR al i > (mg/L) — — — — — — — — — — — — — — —
MU N m A xR RE (mg/L) — — — — — — — — — — — — — — —
A R A N (mg/L) - - - - - - 43 - - - - - — — 43
5 = I i R (mS/m) 29.7 25.5 22.0 12.6 16.1 21.9 27.3 33.3 32.7 34.4 34.9 36.4 36.4 12.6 27.2




1 KIEHERDOKERA
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(1) B LR O E R A

£ 7K H R3.10.5

T 7 = + > — JL (mg/L) <0.0001
A4 = - S VA S = (mg/L) <0.0001
- % ¥ x N 7 m v (mg/L) <0.0001
T b~ ~ N v = R (mg/L) <0.0001
7 X H v 7 % ¥ % (mg/L) <0.0001
7 = T 7 = v N (mg/L) <0.0001
7 o wm g ¥ U K A A F (mg/L) <0.0001
Y 7 = J =a 5 v = ) (mg/L) <0.0001
a4 == — L (mg/L) <0.0001
v A = A > — % (mg/L) <0.0001
> 5 7 A F T v (mg/L) <0.0001
7 7 7 = - ) R (mg/L) <0.0001
7 7 A ~ ¥ VA IN (mg/L) <0.0001
7 7 JL va D R (mg/L) <0.0001
7 7 2 F V= (mg/L) <0.0001
T 7 7 - J Y R (mg/L) <0.0001
MY ox X B R vy 7 o= F O (mg/L) <0.0001
Ky 7 oL Y = (mg/L) <0.0001
Ny o 7N 7 = (mg/L) <0.0001
v 7 Y A ) 7 v T F o) (mg/L) <0.0001
7 7 A ~ v % (mg/L) <0.0001
7 JL 7 % ZD > 7 (mg/L) <0.0001
R 2 Vi) ) K (mg/L) <0.0001
7 Y X ¥ A k v v v (mg/L) <0.0001
A - = 4 B N (mg/L) <0.0001
7 = = ES 7 (mg/L) <0.0001
v 7 o = N (mg/L) <0.0001
Va = JL 74 o — JL (mg/L) <0.0001
N = - S A ¥ (mg/L) <0.0001
oNom A g 7 owa v A F L (mg/L) <0.0001
= 7 - J > 7 2 (mg/L) <0.0001
2 A - S VR S = SN (mg/L) <0.0001
7 )L b~ 7 = JL (mg/L) <0.0001
AN e F JL (mg/L) <0.0004
v 7 R AATF VA F Y (mg/L) <0.0001
FU Z ¥ -2-7 hF T F L (mg/L) <0.0001

Q@ JFUK

£ 7K H R3.10.5

2,4-D(2,4-PA) (mg/L) <0.0001
MCPA (mg/L) <0.00005
7 v = 7 N (mg/L) <0.0001
7 + 7 - — b~ (mg/L) <0.00005
7 B 7 D% N (mg/L) <0.0001
7 7 J = — JL (mg/L) <0.0001
A v ¥ VA 7 % N (mg/L) <0.00005
A4 Y 7 wma Hh ) 7  (MPC) (mg/L) <0.0001
4 Y 7 v F F Z v (PD (mg/L) <0.0001
A N v J 7 7 N (mg/1.) <0.00005
-~ kN 7 = v ZF v v 7 A (mg/L) <0.0001
s A A = T T (mg/L) <0.0001
A G - ) (mg/L) <0.0001
h 7 = v A b B = J (mg/L) <0.00005
Vol . N i I (NAC) (mg/L) <0.0001
¥ / J 7 D v (ACN) (mg/L) <0.00005
¥ ¥ 7 v v (mg/L) <0.0001
7 D JV = N (mg/L) <0.0001
7 = JL v’ ) Ry 2 (mg/L) <0.00001
7 u o ¥ v = J (TPN) (mg/L) <0.0001
v 7 A v N (mg/L) <0.00001
7 = ~ = 5 (DBN) (mg/L) <0.0001
D% v = R A (DDVP) (mg/L) <0.00005
4 i % [ JL (mg/L) <0.00005
T ~ D N (CAT) (mg/1.) <0.00001
vl 1 7 Y J N (mg/L) <0.00001
7 7 7 A (mg/L) <0.0002
7 % X 7 JV 7 (mg/L) <0.0001
F 4+ 7 7 x — K A F N (mg/L) <0.0001
~ Y 7 = = v (mg/1.) <0.00005
Ky 7 wm &k v (DEP) (mg/L) <0.00005
K ) 7 JL 7 ] N (mg/L) <0.0001
+ 7 = 2% D K (mg/L) <0.0001
vy % 7 o v F ot v (mg/L) <0.00001
= ) -7 ¥ il JL 7 (mg/L) <0.0001
7 = = b+ m F F v (MEP) (mg/L) <0.0001
7 = J 7 A 3 7  (BPMC) (mg/L) <0.0001
7 - v FF >~ (MPP) (mg/L) <0.00005
7 vl 2 D 2 (mg/L) <0.0001
- = v D N N (mg/1) <0.0001
A= = = % (mg/L) <0.0001
- = = va D K (mg/L) <0.0001
~ J D JL (mg/L) <0.0001
~ VA N2 7 | NG (mg/L) <0.0001
~ N v > N (mg/1.) <0.0001
~ v T g A xY N (mg/L) <0.0001
N 7T s (RN z2a Y ) (mg/L) <0.0001
~ N 7 L t — ~ (mg/L) <0.0001
A= A= v 7 (MCPP) (mg/L) <0.0001
A > 2 JL (mg/L) <0.0001
A v 7 ¥ v JL (mg/L) <0.0001
A ~ = = JL (mg/L) <0.0001
A4 Y x ¥ F F v F X V v (mg/L) <0.00005
4 7 Y ) v F X J v (mg/L) <0.00001
MPP 2 I 7z X A N (mg/1) <0.00005
MPP 2 JL R e (mg/L) <0.00005
MPP 7 X Y NG (mg/L) <0.00005
MPP 4 ¥ Y v X )L &K % o K (mg/L) <0.00005
MPP 4+ * Y v X L K v (mg/L) <0.00005
7 X I kK A *F X J v (mg/1.) <0.0001
7 + v D 7 ) N (mg/L) <0.0001
O = 7 K (mg/1.) <0.0001




1 JKiE M RR DK E A
(1] AZV—#Kes
(1) BMEZE R O R A
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£ 7K H R3.4.6 R3.5.12 R3.6.8 .6 R3.9.7 R3.10.5 R3.11.10 R3.12.14 R4.1.19 R4.2.16 15N B/ S
X i B = b = b i 551 = b - - -
X i (©) 8.5 13.9 24.8 23.2 18.7 22.9 12.3 6.0 2.3 24.8 2.3 14.5
7K & (©) 13.5 17.5 17.5 16.0 17.0 17.5 18.0 17.5 17.0 17.0 18.0 13.5 16.9
— % Al (ImLH) 0 0 0 0 0 0 0 0
K 15 (MPN/100mL) 0 0 0 0 0 0 0 0
HKEIT AR PZOALEDY (mg/L) — — — — — <0.0003 — — — — — <0.0003
K g K O F o b & W (mg/L) — — — — — <0.00005 — — — — — <0.00005
L kN ZE O A& W (mg/L) — — — — — <0.001 — — — — — <0.001
i K O 2 o b & B (mg/L) — — — — — <0.001 — — — — — <0.001
E E K X F 0o b AW (mg/L) — — — — — <0.001 — — — — — <0.001
Nl v A b A W (mg/L) — — — — — <0.002 — — — — — <0.002
il fid i3 Re = F (mg/L) <0.004 — — <0.004 — <0.004 — — <0.004 <0.004 <0.004 <0.004
T A A A v R Ok T v (mg/L) — — — — — <0.001 — — — — — <0.001
B OBRRE % HE K MR B E R (mg/L) 0.28 — — 0.32 — 0.26 — — 0.21 0.32 0.21 0.27
7 v FE Kk O E 0L A& Y (mg/L) <0.08 — — <0.08 — <0.08 — — <0.08 <0.08 <0.08 <0.08
AU F R WY EZE O AEWY (mg/L) — — — — — 0.06 — — — — — 0.06
Iy i} e R ES (mg/L) — — — — — <0.0001 — — — — — <0.0001
1,4- % Zh X VA N (mg/1.) — — — — — <0.001 — — — — — <0.001
v A-1,2-vranxF L K N A
12- ¥ 7 m un T F L v (mg/L) — — — — — <0.0001 — — — — — <0.0001
Y 7 n 1= S S (mg/L) — — — — — <0.0001 — — — — — <0.0001
> N5 Z/ mou = F L v (mg/L) — — — — — <0.0001 — — — — — <0.0001
K'Y Z v om = F L v (mg/L) — — — — — <0.0001 — — — — — <0.0001
~ N + N (mg/1.) — — — — — <0.0001 — — — — — <0.0001
i) F [i73 (mg/L) <0.06 — — <0.06 — <0.06 — — <0.06 <0.06 <0.06 <0.06
7 = = e i3 (mg/L) — — — — — <0.002 — — — — — <0.002
4 = = 7 JL UA (mg/L) — — — — — <0.0001 — — — — — <0.0001
V 7 = = FE i3 (mg/L) — — — — — <0.002 — — — — — <0.002
Y 7 m % J naona A K v (mg/L) — — — — — <0.0001 — — — — — <0.0001
5 ES 173 (mg/L) — — — — — <0.001 — — — — — <0.001
w U N o om X H (mg/L) — — — — — <0.0001 — — — — — <0.0001
A== (mg/L) — — — — — <0.002 — — — — — <0.002
7 n £ ¥V 7 o on A K v (mg/L) — — — — — <0.0001 — — — — — <0.0001
v = + R JL UA (mg/L) — — — — — <0.0001 — — — — — <0.0001
A v A 7 Vv F B K (mg/L) — — — — — <0.002 — — — — — <0.002
o & X =2 o &b A W (mg/L) <0.005 — — <0.005 — <0.005 — — <0.005 <0.005 <0.005 <0.005
TNANI=UgAEOZEOIEWY (mg/L) — — — — — <0.01 — — — — — <0.01
% AKX O o b A& W (mg/L) <0.01 — — <0.01 — <0.01 — — <0.01 <0.01 <0.01 <0.01
i &k N = 0 b AW (mg/L) — — — — — <0.01 — — — — — <0.01
FThrI D AR OYZEDOIAEDY (mg/L) — — — — — 10 — — — — — 10
~ v Ak OE O AW (mg/L) <0.005 — — <0.005 — <0.005 — — <0.005 <0.005 <0.005 <0.005
i) 1t Y A %+ N (mg/L) 5.6 — — 3.9 — 5.3 — — 5.8 5.8 3.9 5.2
HIVT T A, T RN E) (mg/L) 130 — — 57 — 130 — — 150 150 57 117
7K i 5% e Wi (mg/L) — — — — — 255 — — — — — 255
bz A A v Fom & A (mg/L) — — — — — <0.01 — — — — — <0.01
v - * 2 2 N (mg/L) — — — — — <0.000001 — — — — — <0.000001
- AF LAY KR IL R F — )b (mg/L) — — — — — <0.000001 — — — — — <0.000001
¥ A4 A v K om & M A (mg/L) — — — — — <0.005 — — — — — <0.005
7 - ) — JL ¥ (mg/L) — — — — — <0.0005 — — — — — <0.0005
AW (& H K % (TOC) o & ) (mg/L) 0.1 0.1 0.1 0.1 0.1 <0.1 0.1 0.1 0.1 0.1 0.1 0.1
p H 1B 6.9 6.9 6.5 6.9 6.3 6.9 6.8 6.7 6.9 6.9 6.3 6.8
IS FHERL AL L HERL L AL L FAEIRL FHERL L — — FHERL
= = FHE L HHERL R WL 2L HEL R HEL HERL Yy — — L
£, i3 (E) <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5
1) E (%) 0.1 0.1 <0.1 0.1 <0.1 <0.1 <0.1 0.1 <0.1 <0.1 <0.1 <0.1
J53 H i) F (mg/L.) 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.3




1 AKEHEEE D KE A
[1] AZV—KE
(1) BbZ K OV R A

@ K

s 7K H R3.4.6 R3.5.12 R3.6.8 R3.7.6 R3.8.18 R3.9.7 R3.10.5 R3.11.10 R3.12.14 R4.1.19 R4.2.16 R4.3.15 /) )
Ty TFE VKA OZEZODOALEWY (mg/L) — — — — — — <0.0002 — — — — — — — <0.0002
v 7 v k™ E O A WY (mg/L) — — — — — — <0.0002 — — — — — — — <0.0002
=y TV ERXEZEOIAED (mg/L) — — — — — — <0.001 — — — — — — — <0.001
12- ¥ 7 v nvn = X v (mg/L) — — — — — — <0.0001 — — — — — — — <0.0001
I JL T N (mg/L) — — — — — — <0.0001 — — — — — — — <0.0001
THEILVEBY (- F )L ~F L) (mg/L) — - - — — — <0.001 — — — — — — — <0.001
iffi i) F 73 (mg/L) — — — — — — <0.06 — — — — — — — <0.06
Y /7 vwnu 7 kbF=Fr1U ) (mg/L) — — — — — — <0.001 — — — — — — — <0.001
L A= Ay~ (mg/L) — — — — — — <0.001 — — — — — — — <0.001
s 4 i — — — — — — <0.001 — — — — — — — <0.001
i3 At PR 74 (mg/L) - - - - — — 12 — - — — — — — 12
1,1,I- h VU 7 o oo x 2 v (mg/L) — — — — — — <0.0001 — — — — — — — <0.0001
AF )b —t- 7 F )L = —F )L (MTBE) (mg/L) — — — — — — <0.0001 — — — — — — — <0.0001
B O5 8 & (T O N ) <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1
o () 7 R ) — — — — — — -1.2 — — — — — — — -1.2
1 & e = i (ImLH) 3 4 5 0 2 16 23 1 3 6 4 2 23 0 6
11- ¥ 7 m g = F L v (mg/L) — — — — — — <0.0001 — — — — — — — <0.0001
NNVINFaA IR AVES FR(PFOS) K OY
NI VAR B FE(PFOA) (mg/L) — — — — — — <0.000005 — — — — — — — <0.000005
53 2 P 3 i) (MPN/100mL) — — — — — — — — — — — — — — —
b % W B E B Rk &= (mg/L) — — — — — — — — — — — — — — —
Aok ¥ R EOE R E (mg/L) — — — — — — — — — — — — — — —
) 17 %3 H (mg/L) — — — — — — — — — — — — — — —
S = # (mg/L) — — — — — — — — — — — — — — —
4 ) e (mg/L) — — — — — — — — — — — — — — —
N S S SR N (mg/1.) — — — — — — — — — — — — — — —
% fit P & (mg/L) — — — — — — — — — — — — — — —
% - % > e (MPN/L) — — — — — — — — — — — — — — —
LR N S (MPN/L) - - - - - - 0 - - - - - - - 0
PN i) 7| (MPN/100mL) — — — — — — — — — — — — — — —
#* O OPE #E P ER (MPN/100mL.) — — — — — — — — — — — — — — —
7 v ' = T B % # (mg/L) — — — — — — — — — — — — — — —
7 L s v A (mg/L) — — — — — — 35 — — — — - — — 35
< 7 = v v 2 (mg/L) — - - — — — 8.1 — — — — — — — 8.1
i L3 A * v (mg/L) 76 — — 25 - - 73 — - 87 — — 87 25 65
DA S SR S (mg/L) — - - - — — - - — — - - — — —

U N v X X ov B Rk HE (mg/L) — — — — — — — — — — — — — — —
woor v Y (mg/L) — - - - — - 65 - — — - - — — 65
5 = I B F (mS/m) 32.5 28.7 23.2 14.8 18.7 22.1 32.1 37.0 35.3 37.4 38.2 38.4 38.4 14.8 29.9




1 KEMEROKEHRA
[1] AX#)—¥ k5
(1) BYLZ K O R

£ 7K H R3.10.5

7 7 =i 7+ > — Jb (mg/L) <0.0001
A4 ~ Y A g 7 ua v (mg/L) <0.0001
- F ¥ ¥ 2 L 7 v v (mg/L) <0.0001
= ~ ~ > va = R (mg/L) <0.0001
X ¥ v 7F g F (mg/L) <0.0001
J = i 7 = v > (mg/L) <0.0001
7 v o ¥ U Kk A A F (mg/L) <0.0001
vy 7 = J =2 F v = ) (mg/L) <0.0001
DA == — L (mg/L) <0.0001
T A = A >/ — % (mg/1.) <0.0001
> g 7 A F 7 oz v (mg/L) <0.0001
7 7 7 = 7 ! R (mg/L) <0.0001
7 7 A b~ x VA UA (mg/L) <0.0001
7 7 JL Vi D K (mg/L) <0.0001
7 }‘ = = 7+ > — % (mg/L) <0.0001
va 7 7 - / P4 R (mg/L) <0.0001
U X X BNy 7 = F O (mg/L) <0.0001
Ky 7 oy 2 Y = gL (mg/L) <0.0001
N w7 N 7 = ) (mg/L) <0.0001
vz v 2 v 7 v v o F o (mg/L) <0.0001
7 7 A b~ = JL (mg/L) <0.0001
- JL 7 ¥ N % A (mg/L) <0.0001
R 2 7 ) K (mg/L) <0.0001
7y Y X ¥ 2 F v v v (mg/L) <0.0001
A 7 = V %+ N (mg/L.) <0.0001
J = = Ed -7 (mg/L) <0.0001
v va S = N (mg/L) <0.0001
7 = % 7 o — % (mg/L) <0.0001
ko v X A X F ) (mg/L) <0.0001
Nom A )y 7 o owm v A F )L (mg/L) <0.0001
= = - J > 7 A (mg/L) <0.0001
7 7 Vi A JL - = NG (mg/L) <0.0001
7 JL b~ 7 = v (mg/L) <0.0001
2N + F I (mg/L) <0.0004
V7 gk A AT LA F I (mg/L) <0.0001
Y Z v Vv -2-7 FF v F (mg/L) <0.0001

@ #HK

£ 7K H R3.10.5

2,4-D(2,4-PA) (mg/L) <0.0001
MCPA (mg/L) <0.00005
7 DA o 7 A (mg/L) <0.0001
7 + 7 - — ~ (mg/L) <0.00005
7 ~ 7 P4 v (mg/L) <0.0001
7 7 7 = - I (mg/L) <0.0001
A v x VA 7 % N (mg/L) <0.00005
4 Y 7 w & ) 7 (MPC) (mg/L) <0.0001
4 Y 7 v F F Z v (PD (mg/L) <0.0001
A > Zd J 7 7 N (mg/1.) <0.00005
-~ N 7 = v 7 v v 7 A (mg/L) <0.0001
L A= I (mg/L) <0.0001
F x v v o (A B ) (mg/L) <0.0001
7 = v A k w - (mg/L) <0.00005
Vil JL A ) JL (NAC) (mg/L) <0.0001
s J 7 7 D N (ACN) (mg/L) <0.00005
¥ ¥ 7 v N (mg/L) <0.0001
7 N V% i v (mg/L) <0.0001
J = % [ ) 7z A (mg/L) <0.00001
7 w v X% v = ) (TPN) (mg/L) <0.0001
v 7 7 X v (mg/L) <0.00001
4 7 o ~ = L (DBN) (mg/L) <0.0001
v 7 w A 2 (DDVP) (mg/L) <0.00005
D F %+ r° L (mg/L) <0.00005
> ~ v N (CAT) (mg/L) <0.00001
vl A 7 v J N (mg/L) <0.00001
7 % 7 UN (mg/L) <0.0002
i %+ v Vi JL - (mg/L) <0.0001
F A+ 7 v X — K~ A F (mg/L) <0.0001
~ Pj 7 = | L (mg/L) <0.00005
KU 2 wm & v (DEP) (mg/L) <0.00005
b~ ) 7 JV 7 U > (mg/L) <0.0001
A - = /X N K (mg/L) <0.0001
vy X 7 = v FF v (mg/L) <0.00001
= ] 7 7 vl JL 7 (mg/L) <0.0001
7 = = + m F F » (MEP) (mg/L) <0.0001
7 = J 7 J v 7 (BPMCO) (mg/L) <0.0001
7 - v FF > (MPP) (mg/L) <0.00005
7 v D Ry 2 (mg/L) <0.0001
- = T 2 K N (mg/1.) <0.0001
7 nBv ¥ o 5 v = (mg/L) <0.0001
va = = H 3 K (mg/L) <0.0001
~ J D JL (mg/L) <0.0001
~ v v 7 = N (mg/L) <0.0001
~ e ’d 4 N (mg/L) <0.0001
~ >y T 4 A K ) N (mg/L) <0.0001
X 7T ( RN 2a Y ) (mg/L) <0.0001
~ v 7 L + — b (mg/L) <0.0001
A = ZA = > 7" (MCPP) (mg/L) <0.0001
A v D JL (mg/L) <0.0001
A i 7 X e JL (mg/L) <0.0001
A - = = JL (mg/L) <0.0001
4 Y % ¥ F 4+ v F F J v (mg/L) <0.00005
A YA . A (mg/L) <0.00001
MPP 2 JL 7 X 4 K (mg/1.) <0.00005
MPP 2 I 7z N (mg/L) <0.00005
MPP 7 ¥ >V v (mg/L) <0.00005
MPP 4+ % Y v X )L K % ¥ K (mg/L) <0.00005
MPP 4+ * Y v ZX JL K v (mg/L) <0.00005
A A - A (mg/L) <0.0001
7 + v D 7 U K (mg/L) <0.0001
A N J = 7 ) N (mg/L) <0.0001




